8/8/2015 Print Test

PRINTABLE VERSION

Practice Final

You scored 100 out of 100

Question 1

Your answer 1s CORRECT.

Find the y-intercept(s) of the polynomial
X=0

SIRFE 0% FEa Y =) ey

B (8,0L(1L0,(20.0.0 Peoy= -91s) 0+8) (o-1)0+2)"
b) ~ (-8,0), (1, 0),(-2,0) Ploy =

¢) (0,0, (-8, 0), (1, 0),(-2,0) S (0,0)

d) (9, 0), (-8, 0), (1, 0)

- 0.0

f)  None of the above.

Question 2

Your answer 1s CORRECT.

Give the vertical asymptote(s) for the graph of

4162463 = (kT )x+9)

Fly =22

N (x-2)(x+1)
8) - x=7, x=-2 X-2=0 X+1=0
X=2. X= -

b) x=1 x=-2

@ x=-1, x=2

d)  x=-9 x=1

e) x=-1,x=2 x=-7
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8812015 Print Test
f)  None of the above.

Question 3
Your answer 1s CORRECT.

Identify the location of any holes (i.e. removable discontinuities) in the graph of

4 -
Yoy =2 +5x—4 o ~Lw™=S5x ++) :-L}/I)[ﬁ-‘f)

2
x —8x+7 XL-BK-Q-'-} L"/‘l)u‘-?‘)
a)  (1."2) and (4.0) o £ 00 _- x—:) Xx-1 20
5 X =1
P4 heo FLO (=) ~3) -1
-+ -, Z
0 (4,0 )
(P
d)  (1,7%)

1. »)

f) ~ None of the above.

Question 4
Your answer 1s CORRECT.

Which of the following functions could represent the graph given below?
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tven (=)

- Lx-n.)‘ x+n? Lx)z: Y

Yz - (x42) (1)’ X2

2 O fD=F x+2  x+ 1)

b SE) =5 (x+2) (x+ 1)
)3

0 O f@)=-x (x+2) (x+1)

FEVE 26 (R4 2) (FE 1Y

e O Flx)=-x(x—2) (x— 1)
f)  None of the above.

Question §

Your answer 1s CORRECT.

Which of the following functions would result in the graph shown below?
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reflect overy

5=-(x*Q{4

PRV L i

b © FlE)=-(x+2)" &1
0 O FlR)=(x+2) —1
d) O flx)=-(x—2F —1

e O Flx)=(x—2) +1

f) ~ None of the above.

Question 6
Your answer 1s CORRECT.

Write the following in standard form for a parabola.

E 4 10x439—2y=0

2

) [x—l—%] =2(y+7)
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b) ® (k=31 5520 =) X* 4o x +39= 24
®¢ x+5'=20—7) X*plox + 5 = 2y-39+ 5
9 O (x=57=2(y=7) (x+5D %= 29 -1

)2 (x+485)"= 2Ly -1)

N [x+3] =iz [i—7]

f) =~ None of the above.

Question 7
Your answer 1s CORRECT.

Write the equation of the circle with center (-6, -4) and radius of length 5V7.

a)

(x4 602+ (y+ 4

0 O x—6°+ (47 =107

) =175 (x+) " + Lyr)™ 135

4 O x—6°+p—4°=5/7

0 O (x—8)7+(r—4) =175

f)  None of the above.

Question 8

Your answer 1s CORRECT.

Write the following in standard form for an ellipse.

162" — 192 x4+ 468+ 95" 4+ 36y=0

x+6" =27 _,
a0 ) (16)

x—6" | r+2) _.
by (16) (9)
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2 2

(x+6)° | (r—2)

o (16) E

i Wx“=192x +95"+3b5= - 448
lolx® -1 2%+ 1) 4+ q (9* +eby +22) = 48 * lo(2e)49(1)

=6 , 0+2° | b (x-W)* 4 Uy+DI"= -Hu8 +ST + 3¢
) e e =W "+ Ty +2)*= I19Y
=6, p+2)’ - [
© e e Ix=L)*+ Ly+2) =)
f) ~ None of the above. q v
Question 9
Your answer 1s CORRECT.

Find the x-coordinate(s) of the point(s) of intersection for the following functions below:

flx)=x —4zx+3

gix)=-2x4+6
[1 1] X"~y 43 =-2x +4
)
Y XL'z-K -3=p
-1, 3}
(x +1)Yx-3)=0
C) {_Erﬁ}
X+l=o X-3=0
d o {13} Xz = X=3
e) {_3=1}

f)  None of the above.

Question 10
Your answer 1s CORRECT.

Find the vertex of the quadratic function
2
Fflxl=x —14x—3
a) (7,-46)

b)  (7,46)
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¢ (-7,-46) FoO = X - 14x + (-¥)* -3 - (-P*
d =7, 52) FLO= (X-DP-52
(- (7.-52) verke: (3, -52)

f) =~ None of the above.

Question 11
Your answer 1s CORRECT.

Given triangle DEF as shown below. If DF =41 and EF =40, find cos(D) and tan(F).
Note: The triangle may not be drawn to scale.

Cos LD = -?"-I
Yol h* D i)
b>: W8l - le00 q Yon LF) = %&
1+
-9 E Yo F
b= 9
9 9
@) cos(®)="41, tan(F)="0
b)  cos(P)= 9/41 , tan(f) = 40/9
9 9

¢)  cos(D)y="m0, tan(f')= /a1

d)  cos(P)= 41/9 , tan(f)= 40/9

e)  cos(D)= e , tan(f') = %40

f) = None of the above.

Question 12
Your answer 1s CORRECT.

Evaluate:

cos(330°)
i s Lrefa = 3o
-—4 3
a) : Cos (30) = 1‘-":/ 2
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1
13
2
¢) _ﬁ

f) ~ None of the above.

Question 13
Your answer 1s CORRECT.

Evaluate: |

(37 ety R

H
N

a) -

by V3

i
3

L

e) 3

f) ~ None of the above.

Question 14
Your answer 1s CORRECT.

Evaluate: Cos L ‘I'/“) J;,a.

1
Lreso- T
2) ﬁ l’l.fe-“ - _J;
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(]
~
Led

1 —
e) 3\;

f)  None of the above.

Question 15
Your answer 1s CORRECT.

To find the length of the arc of a circle, think of the arc length as simply a fraction of the
circumference of the circle. If the central angle 6 defining the arc is given in degrees, then the arc

length can be found using the formula:

Use the formula above to find the arc length s, where 6 =330° and r=7cm.

) 4 em S= 32 omx(3) = 1t (33
3uwo -
7 3
/6 cm
0 "5 em = 2%Fmw-3-1 - F3TU
d) 46207 cm 3 223 e
e) 777t/12 cm

f)  None of the above.

Question 16
Your answer 1s CORRECT.

Given triangle ABC, the measure of angle A is 60°, the length of AB is 8, and the length of AC is 7.

What is the length of side BC?
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X 8%+3*_ 2(8)(3) Cos Lo
3= % ) 2(8)(3)

X% b4+49 - W (Y2)
b) 3 wo C

AT o X"z p4 449 - Se

0) o

d) o L

XL: 5%

%z J53
¢) 106 —\2

f)  None of the above.

Question 17

Your answer 1s CORRECT.
Find the inverse of the given function, if possible.
- =
F@) = +5 Y=x"+=
where x > 0 -
A=y "+ S
a) fl(x)=—‘,|"?—|—5 %-5‘:%1

b) = f(x) does not have an inverse. '3 - W

Sly="x=5
© $7uo=V x-5
0 fleo=Vi+x

o Slw=Vr =3

f)  None of the above.

Question 18
Your answer 1s CORRECT.

A string running from the ground to the top of a fence has an angle of elevation of 45°. The string is 6
feet long. What is the distance between the fence and where the string is pegged to the ground?

a) 12 ft

312 fi
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Cos 45 = ",!:‘
¢) 3 ft "
B FENCE o
d)  3\3 ft (1 d 2 4
X
& 6 n 2= biz
Xx= 3Jz &
f)  None of the above.
Question 19
Your answer 1s CORRECT.

Suppose that 0 is an acute angle of a right triangle and tan(0) = 4\5/5 . Find sin(0) and cos(0).

. F _ 1 ==
) gm{ﬁ]—g\fﬂﬂr’cos{ﬁ]—?g"ﬁ %%ﬁ
o |

S = ¢?

2S5+ lp-2=2¢*

: g 10 =
b sm{a}=ﬁml4 ’cos{ﬁ}=ﬁv’5? S c=Js3
sm{e}=;—?Jﬁ ms{e}=%ﬁ? smg= 42 5 = 4wy
©) > 5 J3r 5%
_& = Ry
0 sm{ﬁ}—ﬁg‘lzycos{ﬁ} R cosg= S J‘;t‘_ . SJsa
Vs+ 0= 3
1 —i 37 cos =i SEES
o sin (0) = = J57 | (8) = J 114

f) ~ None of the above.

Question 20
Your answer 1s CORRECT.

Given triangle ABC as shown below. If AC =13, find xand y.
A

: 307
X ‘3
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52 30: o:10
N eSS e o e za
Y 13 X
12 6
=== J3 y=22/3
"3
0 (x=26,y=263} w (3
= 3
X= 3

x= DB y= TJT)

e lx=132,y=13]

f)  None of the above.

Question 21
Your answer 1s CORRECT.

Convert the following radian measure to degrees: l 17[/6

a) (210 )° W\r \so - b 30

© T
b) (165/2)0 (' '.

0) (1 100/3)0
330°
e)  660°
f) ~ None of the above.

Question 22
Your answer 1s CORRECT.

V3a= 13
a= 13 _ 33
V3 3

X= 20

xX= 2( '3_[;)

3

330°

For the quadrantal angle '57‘/2 , give the coordinates of the point where the terminal side of the angle

intersects the unit circle. Then give the sine and cotangent of the angle.

) (-1,0), sin( "™ )=-1, cot( "™ )=0

(0,-1), sin(""2 ) =-1, cot( “2)=0
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-f

-3W),
Sin L-—;—;:r) = =)

1Y)

) (0.-1), sin( %) =0, cot( "2 )=-1
d) (-1.0), sin( "™ )=0, cot( "2 )=0

& (0.1), sin("™2)=0, cot( "™ )=0

Question 23
Your answer 1s CORRECT.

c»\'('—i_-'-") = 1;-

\Ty
to, -D

- _E =_2.:°
A 2 -\

Find the exact value of the following expression. Do not use a calculator. If undefined, state,
“Undefined.”

2
3 A
a) 7 S 0" Tr/‘-l-
b)  "u T c
-3
2

¢)  Undefined

Q)
Question 24
Your answer 1s CORRECT.
Find the exact value of the following expression. Do not use a calculator. If undefined, state,
undefined.
st (2]
——~—
a)  undefined © S
cC Cos@ = —
12 I '3
b) 5 S
13 5%ut=c”
¢) E

C* 2s )44 = vl
=13
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%
@ -
%
e) 12

f)  None of the above.

Question 25
Your answer 1s CORRECT.
Evaluate
1
sin (cos ™! [ 5 ])
O
e
1

\* 1..__51.
A 7% M

C) 5 3L= 2.‘}
1 . 200
= .05 s 2V

d) ‘J’_ %
1

e) >

f)  None of the above.
Question 26

Your answer 1s CORRECT.

Give an equation of the form f(x) = Acos(B x - C) + D which could be used to represent the given
graph. (Note: C or D may be zero.)
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Print Test
3 ®
Phase siukt - &
T v,'b\‘“
£ - T "
[ :E
e Z
c=T | i . i .
N T o im 2m
7 ) 3

a) O flx)=2cos (2x—m)
by O S(x)=2cos (2x—m) —1
(D© lx)=2eos (2x—m) +1
d) O flx)=4cos (2x—m) —1

e) Fflx)=4cos (2x—m) + 1

Question 27
Your answer 1s CORRECT.

f(x)=Acos(Bx-C)+ D

Give an equation of the form f(x) =4 tan(B x - C) + D which could be used to represent the given

graph. (Note: C or D may be zero.),
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i_
< e
Phost b-\u.
c“ .
St ” n

Print Test f(x)=Atan(Bx-C)+ D

Pened : ™

®|
"

LI
]

a) © J(x)=2tan (x)

b) O flx)=2tan (x+ 1) + 1
o O flx)=2tan (x—7)

g Slx) =2t (x—m) — 1

flx)=2tan (x — m) + 1

f)  None of the above.

Question 28
Your answer 1s CORRECT.

o

Give an equation of the form f(x) =4 csc(B x - C) + D which could be used to represent the given

graph. (Note: C or D may be zero.)
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e)

f)  None of the above.

Question 29
Your answer 1s CORRECT.

Which of these is an equation of one of the asymptotes of the following function?

Flx) =" zec [5'."::1:—!— %’ﬂ:]
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R Ste O = undef ﬂj—x"‘!;'.*é-:
a) 15
- o= 3T
1 Swx+T - L Swx + G =
x=—"
&0
b) Srx = L Swx = &
1 * 2
o € *= 13 *®
\s Is
x=
d) a0
® " ®
f)  None of the above.
Question 30
Your answer is CORRECT.

Find the amplitude for the following function:

39

a) "p
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Question 31
Your answer 1s CORRECT.

Find the period for the following function:

Fflx)=>5rcos [%Tﬁx—i‘t]—z

a) A .2;“'—"2“- v .4 : 38
B ™

Question 32
Your answer 1s CORRECT.

Find the phase shift for the following function:

a)  mright _C_._ - 2 = --_T_l'_ _5_, = -5
B s T
b)  xleft S o e left
¢) 4left
d)  Sright

@ 5 left
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Question 33
Your answer 1s CORRECT.

Solve cos(7x)=1onthe interval [0, ™5 ] = L 1ot 'T,;

2 O xT Cos(®) =\

="/14
X= 0 ) 27T
2n

x=0, =" 3, .0 +2wk

) x=0, x="p =2 ¢k

E
o
d) x=0, x="4 X=-,:;f—'-'-.;|4
o
) x=0 Keo  x= =v=0
K2\ ST

f) ~ None of the above. ¢ = 2 % R

Question 34

Your answer 1s CORRECT.

_ |
Solve V3 cot(x) =-1 on the interval [0, 21 ). CotL)= —

a) X — 57:/6, _ 117'5/6

b _m _ 4n

) X=5, X= T4
_m _ 5z

¢ X=T4, X=""/

d . m _In

) X=T%, X= ")

f) ~ None of the above.

Question 35

Your answer 1s CORRECT.

Solve

on the interval [ -m , 7 |.

%= &%), S

sin (2 x) =

- 14 coz(x)
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a) No solution sin (2X) = - |14+ cos )

2500 tos LX) + 1% cos O =0

b) {;f::[],x:ﬂ:}
2 cospo [sint0 +> =0

_ No
x=—=T" /
©) : 2eos X =0 sinlO=-7 sow“"‘"
@ x=- '.n:,x—%*ﬂ: Cos (O =D
.= W
X= =, =
K=
e)
Question 36
Your answer 1s CORRECT.

Solve the following equation on the interval [0, 2m).

sn Y S )

a) x=0, x=nxn S\n LY - sink) =0
b)  x=Tp sin 0O (sin L0 =1
T o ne) = |
¢ x=Ty, x="T Snx=o sint
d) x—09 x—g x=7T

f)  None of the above.

Question 37
Your answer 1s CORRECT.

Solve the following equation on the interval [0, 2m).

Ain ()4 ah (=550

b)  x=1T
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¢ x=0 Rsin21) tsin - S =0
d)  x=" x= 37:/2 Q"Sﬂlm t+5 ) L)T'\“\ = )
’ . -S SnW) = {
37,: 5!““‘ = ——
e X=p X=7"ph &% xz &
No 9 &
f)  None of the above. 50\,0\-110
Question 38
Your answer 1s CORRECT.
Find the area of triangle XYZ if £Y =30°, z=9 and x=4.
2
\ .
a) 183 " A= 3z (4)(9) Sin 30
3¢ .\ 18- -
® L\ A gpewlhed
0) 4 N A
d) 18
e) 9 ﬁ
f) =~ None of the above.
Question 39
Your answer 1s CORRECT.

Given triangle ABC with the measure of angle A = 60°, the length of BC = 10, and the length of AC
=20. How many solutions are there for the measure of angle B?

°® ssA Sin O . Swb
0 o o ®
b) 1 w0 % = snb
¢c) 4 P 19 ¢ 19 o
loJ3 = (5in 8) 10
A V3= 5in0
e) 2 (ND SoLwTIoN

f) ~ None of the above.
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Question 40
Your answer 1s CORRECT.

Two cyclists leave the corner of State Street and Main Street simultaneously. State Street and Main

Street are not at right angles; the cyclists' paths have an angle of 135° between them. How far apart
are the cyclists after they each travel 3 miles? The answers below are given in miles. Hint: Use the

haw of Cosmes x*= 354 3% 2(HL) Gos 135
a) @ V=43 x>z 18 418 Cos(#5)

by  6-V3 A= |8 +4J2

c) 3 x% 9 Lz+n)

3J2+42 X = 5(11.{:

f)  None of the above.

Question 41
Your answer 1s CORRECT.
In triangle ABC, A measures 32°. If #C measures 57° and BC has length 13, find AB.
% e Sindk _ SinS?
13 sin (57°) > "
@ si (32°) * v
( .;.) Y s? X Sin 32 = \3 Sin S
13 amn | 32 C
. ( o] A X= [38Sn (s¥)
b) sin | 57
sin (32)

i
mm[%]
¢) 32

1=
o3

d)

L3

e) 2

f) ~ None of the above.
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Question 42
Your answer 1s CORRECT.

Given cos(x) = Y& with 0° <x<90°, and cos(y)= 14 with 270° <y <360°. Find cos(x + ).

1+2472 \/\:/Jllﬁ' — KE
“J3

@ (33) l ) n

1—242
b) (35) _ _
Cosx+y)=Cos x w*Y = Sinxsiny
1153 : s afe \ (-493
g0 3 = (3) (¥)- )5)
-
1+203 ! + &V .+ 24V
d) (33) 3s 3s
1+4/78
e) (35)

f)  None of the above.

Question 43
Your answer 1s CORRECT.

Given sin(x) = 4 with 0° <x<90°, and sin(y) =¥, with 0°<y<90°. Find sin(x + ).

J_+3
a) (20

J_+3J_
@ Sinlx+4y) = Sin X (0% Y -l-(ﬂb%:mj
/91 —3J3 3
0 (20) = (O« () H)
242 = VA 303 . Jaslz
d) (20] 20 20 20
e) 5
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f) =~ None of the above.

Question 44
Your answer 1s CORRECT.

Given csc(x) =-4 with 270° <x<360°. Find cos(2x). = ws"-m-sinl'tx)

a)

-2 ﬁ%‘ - ._‘._s_ - ._‘. - -‘-—n
lo lw lo
7/8 " ]
LWE-1 sin: 3
15/16 Cos () = _‘E-é
[T}
1

f)  None of the above.

Question 45
Your answer 1s CORRECT.

Which of the following is equivalent to sin 2 (8) - sec 2 (8) + cos 2 (8) + tan > (0) ?

a)  cot(0) Sin>0 + cos*p t Fan'g-sec?p
W \./_V_J
b) ©-1 \+ (- =0
¢) csc 2 (0)
d 1
0
f)  None of the above.
Question 46
Your answer 1s CORRECT.

Which of the following is equivalentto (1 - cos (8)) (esc () + cot (6)) ?

a)

tan (0)

https://www.casa.uh.edu/C ourseVWare2008/R oot/Pages/CW/Users/Student/Grades/PrintTest.htm
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\ . Cos© )
b) Ll - CosPo \ L Sn@ Sin@
cos(0) + 1
cos(0) - 1 . N 5@ _ cosd _ Cp‘hze
Sin® S\n® Sin@ EY-
¢ sec(0) 1 N
| s’® - sin'8 _ sina
@ sin (0) s\n@ sSnd
¢ cos(0)
f) ~ None of the above.
Question 47 s5\n’p -H'.os"'e = |
Your answer is CORRECT. far*a + | = Ste?s
Which of the following is equivalent to on'g = sse?0 - |

sec?(0) - 1 ton e

sin*(6) sin*g

a)  cot?(0)
Sinle | - _L_ =D

b)  sin 2(9) tan 2(E))

Cos>o sin®d GCos’e
¢)  sin’(0)
sec 2(9)
e)  cos?(6)

f) ~ None of the above.

Question 48
Your answer 1s CORRECT.

Which of the following is equivalent to
1 - cot 2(9) + 2 cos 2(theta)

1 + cot 2(6)

a) 2
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I- ot %o

Cs c."c

b) 0

@ 1

2
¥ 205 0 | + ot %0 = ¢csc®0

Sin*g - e  Ssin'e 2covtO

d) -1+2cos 2(E)) Sin*g |
e)  2sin>(0) Sin~@ — Cos Yo + eos 2‘9
f) = None of the above. Sin'g v cos’@ = 1
Question 49
Your answer 1s CORRECT.

Solve the following equation on the interval [0, 2m).

Fain® (B} — I f 5 =0

W o x=, x= Lzs""l.)t\ - | )lﬁ'nu&\ - $)=0
@ =T x= "% 2s5in0d) = | Sin) = S

¢ x=Tp SinX) = l/z_ No SoLuTioN

d) x=T x= Ty X= %, >

0 x=Ts x= T

f) ~ None of the above.

Question 50
Your answer 1s CORRECT.

Solve

over the interval [ "V, %4 |

\>si..uo-\
Y

! - 4 Tx+X = LT, onk
a) [ [ Y] 01 3 2 e
Tx= X L2k

1 “
& =l + 2K

b) X b-a-
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Print Test 2k
K= L, K
i [ (M
©@° ~
K=o x= TV
bae
d) K=\ xX=13 ¥
L
El
e) f
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